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The ecivilized scientist will

present a theory that is

not to be gquestioned, that

TIME and LICHT 67 million

miles from the SUN is the

same anywhere's within

360° no metter what the peoaition

the Earth is in within the

circumferencea. O EARTH

The Indian of the America's cannot make such a statement and is
in direct eenflict with their sciences.

o= Find the Diameter(3" ) and the Duration()

aa.The dimensional Change through Veleocity( 7

asa.Pertaining to LIGHT and every point on the surface
of the Earth,( (-}

bb,Find the perioed in the TIME Equation( 7™ )

cc.Find the cycle in the SUN BELT{ & )that is squared,
apa.giving a new Equation having eleven chan,ges? FoR)

dd.Find the formula to the undercycle or downward forever(
ana.which would be opposite of Upward forever( }

”ﬁa? o{;

Lets begin with what avergune knows .
TIME EQUATION-3000 £ 15.08333= 198.85507 days
198.80507 days + 12 changes= 16.57L59 days.
18.08137 days x 24 x 60 x 60= 1562230.L seconds.
1562230, 45ec. & 1 .51693:11.8.3.=Sh35?.6?8‘—6ﬂ- 1L06,128 minutes
1406.128 + 181 atoms=7,768663 minutes. ;
7. 768663 x 60=466,11978 seconds.
(67 million(VENUS) - 93million(EARTH)=.7204301%)
466.11078 sec x .7204301%= 335.80672 seconds.
67million({VENUS) - 335.306?%199%3%%53 miles per second
to ;
Ancients state total TIME for LIGHT to reach EARTH is
g‘?J}hB seconds. The Twelve changes from the TIME EQUATION i
6.11978 seconds, so the Dimensional change through

VELOCITY is 11.21502 seconds.
so, from VENUS to EARTH the speed is 183,709.12 miles per sec

S0, the DIMENSIONAL CHANGE of Negative TIME 286,89025 miles per secon
for 11.21502 seconds and the DIMENSIONAL CHANGE for Positive TIME is
18.51693 miles 'per second for 477.3348 seconds running perpendicular to

Negative TIME. Keep in mind they are Equal in TIME EQUATIONS.

You now have THF DIMENSIONAL CHANGE THROUGH VELOCITY,

DOWNWARD FOREVER(mistrans lated)
OFPPOSITE OF UPWARD FOREVER(mistrans lated)
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SUN The civilized scientist will pl~esent a theory thgt hot to be questioned, that TIME and LIGHT 67 million miles from the
SUN is the same anywhere 's within

360° no matter' what the position the Earth is in within the circwnference. C EARTH
The Indian of the Americafs cannot make such a statement and is

in direct conflict with their sciences.

c- Find the ) and the Duration( of;

aa.The dimensional Change through Velocity( /7 )

aaa.Pertaining to LIGHT and every point on the surface

of the Earth,( (') ) bb.Find the period-:in the TIME Equation( ) cc.Find the cycle in the SUN BELT( Q )that is s
uaggu,

aaa.giving a new Equation having eleven changes( 7 dd.Find the formula to the undercycle or downward forever( G2
aaa.which would be opposite of Upward forever( E )
VELOCITY is 11.21502 Seconds. so, from to EARTH the speed is 183,709.12 miles per sec
So, the DID/LENSIONAL CHANGE of Negative TIME 286.89025 miles per secon

for 11.21502 seconds and the DIMENSIONAL CHANGE for Positive TIME is 18.51693 miles .per second for seconds running
perpendicular to

Negative TIME. Keep in mind they are Equal in TIME EQUATIONS.
I You new have .THE Dn/ENSIONAL THRQUGH VELOCITY,



